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39 A litter of kittens have ARAY ‘

cat, . Which best explains this situation?

The kittens are provided the same kind of milk from their mother as they
grow.

The kittens inherit some of their traits from their mother and some from
their father.

The kittens are kept at the same temperatures by their mother when they
are first born.

The kittens are taught by their parents to have

> @y

porn with

40 Which are examples of inherited traits? 1 ! : \‘ E“_‘,S
/ specific beliefs % ’F(m ‘I %
y fingerprints 5

/ memories E
(D) nose shape V

41 A pencil falls off v at moves the pencil toward the floor?

A mass
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42 A child rides a wagon down a hill. Eventually, the wagon com

most responsible for causing the wagon to stop? A e
- g B

A gravity acting on the wagon B

"[D friction acting on the wagon VALVID WY r

C the mass of the wagon (J\(JN/\J _H' Wi 13.\,

D the mass of the child el "N N

R

concenstion

43 What must occur before élﬁ:ds can form? C
‘-—_’———C\ (: Y )\ ‘( %

Water vapor must get warmer. (%L‘
/ R ‘C oM G

@ Water vapor must lose heat energy.

. Toys\!
/c«' Precipitation must begin to fall agd run off (EF‘b -*O \ O")/ C\

p" Transpiration must add wa va Othe atmosphere.

/

44 Which process allows grewla&ts control the amount of water stored in their

leaves?
Tronepyation

A photosynthesi

C respiration

6 transpiration
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Energy from the sun caused the water to evaporate.

A

One morning, Jane notices drops of water on the outside of a window. Later in the
day, she notices that the drops have disappeared. What most likely caused the

dropsto disa 4
pPpear V Cx’\’ Q’

A The water condensed on the pla&ts around the house.

¥4 The water cooled enough to turn into water vapor.

D Wind blowing on the window turned the water into vapor.

This paper-and-pencil version of the assessmentg@nno y items available 455
only online. '

What happens to metal railroad track: rin eat of a summer day?
m—
)/ decrease in weight eﬂm‘f\

7’ increase in weight
y decrease in lengtl
([D increase in le V \[\\Q/\ h‘\'
con' &h@%&
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48 The weather forecast indicates tha W&%{Pﬂ’ﬂ%"w
the next 24 hours. Which type of weather will mos: ely resu \FT\'
eady \!
A clear skies and cold temperatures
B clear skies and hot temperatures (C\‘m

&3 cloudy skies and rainy weather

D heavy snow and ice

; WO

49 What is the cause of rising surface temperatures o
the western United States, and flooding on the Pg€ific c
A the Gulf Stream r/\ |

the jet stream

Ocean, drought in
America?

T

B
< La Nifa
D El Nifo

cleceaaed femperctunes

sultwh he jet stream moves south of North Carolina? <

ience tropical weather conditions. CD\C\

perience hot, dry weather,

50  What will most likely

North Carolina

& :
B NorthC'
@

North CarolM@ will experience mild weather.

(D:} North Carolina will experience cold weather.
-
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51 A scientist is trying to decide whether an organism is un?te?ulnr or m;:mr_

Which information would help the scientist most to make her decision?
A size of the cells of the organism
B what the organism eats

@ how many types of cells are in the organism

D how fast the organism grows

52 Which body system processes foods into a useable nergv?
A circulatory 8@6\ ‘ \/e

(B ) digestive

53  Which is an example of a @ecomp
A ahawk @Vp(ﬁﬂ\ﬁ@ C\O\Nﬂ \“\‘\' O

B a mouse ﬂu\‘ \t‘\"‘\)
oorena FunG

£OHNWOIM
TLONoO) 3

(3 a flower

(D\> a mushroom

gt AR S L Jon
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54  As more people hav Lh&nead‘ the sea turtle pngu'a!m" o
s
decreased, Which is most likely the cause of this decrease

A tropical storms

B increase in predators

(E) habitat loss

D warmer temperatures

55 Which will most likely cause a decrease in predatg

A an increase in prey populations

DROOUEE
C  adecrease in decomposers _\)ﬂt\i QD“‘»\‘ ‘—0\(%/

D an increase in producers ,F -\—O ‘ +

56 A simple food chain lnclu hawk zards, and insects. Which will most likely

("B—') a decrease in prey populations

happen to the lizard lations if a pesticide is sprayed to kill the
insects, and the hza populatlons cannot find other food i is
ecosystem:' Y, (YEC FCQSQ,
/i . Both th ation and the hawk population will increase.

(B‘ Both the liz population and the hawk population will decrease.,

C The lizard population will increase, but the hawk population will decrease.

D The lizard population will decrease, but the hawk population will increase.
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57 Which best explains why children resemble their parents?

They eat the same foods. %C\me D—FIA R

. They have similar DNA.

They speak the same language,

D They have the same interests,

58  Why do dogs have most of the character Ics of L+ s

@ They inherit them from their parents.
They live in the same habitats as their ‘

B
C) They learn them by observing their
D

They eat the same foods as the! w




image13.jpeg
y
4
©
7

60  Which trait do children most likely inherit from their

N W6

: i »
59 Which is a characteristic of a dog that is most likely a result of | yironmants
its color J‘ neel “\ GC\

its length of ears 1\"‘\‘\?( \'\ QC\

its food preference

its ability to see in the dark .\ﬂ‘ K 4 \fc,\

musical ability

shape of earlobes \ \( Wm : ? %

personality

language
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25  If 10 grams of water are added to 5 grams of salt, how much salt wate

made?

A 2 grams

B Sgrams ‘D-‘-—6 :\6
L # 10 grams

®

26 A student notices that an inflated balloon gets larger

15 grams

warmed by a lamp.

Which best describes the mass of the balloon asg re is change?
Ty v §G
The mass of the balloon ﬁc:‘r‘tgasgs‘ & of theé balloon has

increased.

The mass of the balloon increa beca

has increased.

e temperature of the balloon

The mass of the balloon
still has the same mass a

me because the gas inside the balloon
ms up.

The mass of the n sta he same because warming decreases the
mass enough togfance e effect of increasing the size,
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29

People sitting around a campfire are able to feel the heat from the ﬁre7. How are
the people able to feel the heat from the fire hin etirer < ;

oyl & M, adiation
A The heat from the firetrayels throbgh t Ui he ground

around the people.

B The heat from the fire is conducted through air molecules to the people.

C The heat from the fire rises in the air and then settles around the people.

@\ The heat from the fire radiates from the fire to the people.

Bill stands in a swimming pool and notices that
cooler tha urface. Which

temperature? #
@ convection

— WOrm
B evaporation %F(:Qte’
G radiation
D

conduction

ion - (OoO\er

Andy lives in the isphere. What season does he most likely

experience in
A spring

summer

B
6_\; winter
D

awmn ST TIEES
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30 On a cold, cloudy day, the local weather forecaster predicts that a hi the‘:
system will be moving into the area in the next 24 hours. Which wea

conditions will this system most likely bring to the area?

© =~ Yappy > sunny,t Goly

o snowy

D hot

en a cold
¢ Mass and

n warm air mass. .

B It creates the high winds around thi hurricane. W t\( \71 0\

C It forces the hot air along the ev se to areas in North America. Pﬂc‘%

Houndar \!

31 Which best describes a characteristic of the je

G) It forms a boundary between a cold ai

B It causes high pressure a@m to rotate clockwise.

micellaiar— SINQIe o),

32 Which statement be;yesc es acterial cell?

A It contains mo an gne cell. me QQ\\ . QC]Y\P\QJ\'Q,
@ Itisac ' nism. Pﬁ (“(:Dr\”ﬁ% CH‘ :

€ It is part o arger organism. s Jr\\e \ 6
D It contains different kinds of cells. 2 \ ; P"O CQ%GS
iNterocts C“(’CC‘HY';





image4.jpeg
33 Which characteristic do single-celled organisms and multicellulac arganisms have
wﬁ’l‘_ g ’A_\\ (‘k~ \\«’:) (\(“1 :

A Both have cells with specialized functions for each life process.
'
B Both perform all life processes within one cell. ;t\‘ Qhé
\ 1) (TN
( C Both have a way to get rid of waste materials. 3) \\")‘ eCoihe IEXQ \Tm%t
D Both are able to make food from sunlight. gﬁﬁ
et
( . aste >y
C)qet (dof was incl food

34 Which system of the human body provides protecti of the major

organs?

Q\ ) skeletal system

B circulatory system
C respiratory system

D muscular system

35 Which example best eres that make up the digestive system in the
human body?
S

preaks Cown

B food QRS

C  brain, spinal cord, nerves ‘\’h(%h ")ﬁe,

6\ esophagus, stomach, intestines C%o?ﬁ(%u@l*\-hm
TIR samach,
Ol otretine~then

\QIY, 8t

A heart, bl

nose, tra , lungs





image5.jpeg
36

* ¥ 4

38

A . vl
This paper-and-pencil version of the assessment cannot display items
only online.

This paper-

and-pencil version of the assessment cannot display items available
only online.

or dec(

X
In a grassland ecosystem, if the population of ggl.eg_ﬁuﬂ,dmly decreased,
will most likely be the effect on the rest of the ecosys]

ecosystem.

@ The ecosystem will become overpopulated wj

There will be a decrease in the populatiof

%, The nutrition of the soil in the ecosygle

D More types of plants will begin ing j

v/





